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15 MARCH 2023

08:00 AM t0 10:00 AM
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22 MARCH 2023

02:00 PMto 04:00 PM

BANK ONLINE LIVE CLASS

05 APRIL 2023

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

ENGLISH & BENGALI BILINGUAL
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Amanvi (Sadhvi) 3 weeks ago

Today's session was so amazing sir
Option d

Thank you so0 much sir & &

e 2 G Reply o Arjoo Srivastava 3 weeks ago

- (7= « 1 reply H.w answer D-30%

e CP Reply

Aalap 3 weeks ago
Amazing session Thank You sir 4,

HW ANSWER: 30%

e 2 57 Reply

w 7=« 1 reply

Tanu Jain 3 weeks ago
Homework Ans is opt d -30%

Thank you for this wonderful session 4. « =
Aaj ki DI krne me bhut mza aaya




Real Champs-

DEBASHREE DAN 3
Wonderful session bohoti maja agaya.

Thank you sir

ih G e

abhay singh 3 ago
Thank you for great session sir answer is 30percent

e 2 G 5y Reply

harsh sharma 3 ago
Today's session is amazing sessions sir.. homework answer is option d 30%

g1 G Repy

v 7=« 1reply

Sarita Maurya 3

Today's session is very nice sir and answer will be option d

e 1 G Repy

w (7=« 1reply

DEBASHREE DAN 3 5 ago

H.w - option D 30%
Basic topic - train ...boat & stream




Nitu Maurya 3 weeks ago

I h gt R Hwans30%.
Rea C am S Aaj ka DI bhut hi ache level ka tha

Thanku sir for amazing session .,

s 'GP Reply

v (7% 1reply

Surbhi Sinha 3 weeks ago
Homework question answer - 30%

s ' GF  Reply

w (7 e 1reply

Tanisha p 3 weeks ago
Thanku so much sir ., «« bahut hi acchi class thi or DI bhi bahut acchi thi thank usor. S, 4 s
Homework 30%

s 'GP Reply

v (7% 1reply

Miharika Jha 3 weeks ago

Homework answer: option D 30%




IBPS Target Batch Schedule

*¢* Monday- Basic topic ( 10min Quiz )

X Tuesday- Basic topic ( 10min Quiz )
X Wednesday- Basic topic ( 10min Quiz )
** Thursday- DI special ( Prelims Level )

** Friday- Top Trending Questions ( Word
Problems) - Same or Miscellaneous

X Saturday- Mains Magic ( Mains level) =



The table given below shows the number of bikes present in five different
tuition classes and the percent of cars with respect to bikes in 5 tuition classes

in the month of march.

=frer &t 173 ATfeTeRT AT & Wl | Uiel HACTT-3AeTT TV HETSAT H HISS TT3eh hi
HEAT 31 5 TITH HEATA H AT3eh oh el H SR BT Ta9rd fe@mat 2|

Tuition Number of cars with respect
Number of bike

Class to bikes
A 12x 50% more
B 15x 20% more
C 28x 25% less
D 25x 24% more
E 20x 25% more




The total number of cars present in class A is what percent of the total number
of bikes in all the five classes together?

T A H HISIE I kT Shet TEaT At gier ST | 139k shi Shel ST T foha T
afaeTa &2

Tuition| Number | Number of cars with
Class of bike respect to bikes
A 12x 50% more
B 15x 20% more
C 28x 25% less
D 25x 24% more
E 20x 25% more

1.12%
2.15%
3.17%
4.20%
5.18%



In April 2019, the number of bikes in class E was 10 less than the number of
cars in class E. If the ratio of bikes to cars in class E joined in April was 4: §,
then what was the number of bikes joined in class E in April 2019?

3T 2019 |, HAT 3 | qTZh hl HEAT T S H R hi &I H 10 HH off) Tfe

FUAT | I HeAT E W AT R HRT T AT 4: 5 AT, A AT 2019 H HATE

o ITTHET ATgeht shl TEAT ST ofi?
Tuition| Number | Number of cars with
Class of bike respect to bikes

A 12x 50% more
B 15x 20% more
C 28x 25% less

D 25x 24% more
E 20x 25% more

1.20
2.30
3.40
4.45
5.50



In class C, bikes and cars in the month of April increased by 1/7th and 1/3rd as
compared to the previous month. What will be the ratio of the total vehicles
(bikes and cars) in March to the total vehicle in April?

FATE €T H ST HEH H T8 AR HRTH {USe A& 61 T H 1/7 3R 1/3 6t
g TS| 9T H THed AT@HT (T3 HAR HIT) R T H HeA A8 T SFTUATT T

BT
Tuition| Number | Number of cars with
Class of bike respect to bikes
A 12x 50% more
B 15x 20% more
C 28x 25% less
D 25x 24% more
E 20x 25% more

1.49:60
2.47:58
3.49:59
4.47:60
5.45:58



If in class D, out of total number of bikes present, 20% are electric bikes, while
out of the total number of cars present in E, 20% are electric cars. Find the

ratio of electric bikes in D to the electric cars in E?

afg AUt D W, HISTE 18 chi et HEAT H H, 20% TATHS A3 ¢, a1k E H
HINTE I S el HEAT H § 20% Feifereeh il 51 D H geifereeh aTgeh AR E W

FATorgeh ST ShT STTUTA AT <hl (Tl ?
Tuition| Number | Number of cars with
Class of bike respect to bikes
A 12x 50% more
B 15x 20% more
C 28x 25% less
D 25x 24% more
E 20x 25% more

1.1:1
2.1:2
3.2:5
4.3:7
5613




If in Class F, the total number of bikes is 25% more than the total number of bikes
in C, and the total number of cars is 20% more than the number of bikes present in
E, then what will be the ratio of total number of bikes in F to the total number of

cars in F?

At Ault F W, a1geh hl et AGAT C § AT3h hl el HEAT H 25% 3ATEH &, SR A/
1 el HEAT E | HISIE T3k hi AGAT H 20% AT &, a1 F H d18eh chl el AT
3R F & I Y ot HEAT T STUTT FIT ST

Tuition| Number | Number of cars with
Class of bike respect to bikes
A 12x 50% more 1.15:22
B 15x 20% more 2.35:24
C 28x 25% less 3.18:23
D 25x 24% more 4.12:25
E 20x 25% more >.33:47




In a school there are total 120 statf members
and 800 students. 65 per cent of the number
of staff members are teachers and the
remaining staff members are administrative
officials. Out of the total number of students
45 per cent are girls. Twenty per cent of the
number of girls can speak only Hindi. The
remaining girls can speak both Hindi and
English. Three-fourths of the number of
boys can speak only Hindi. The remaining
boys can speak both Hindi and English.
Two-thirds of the number of teachers are
males. Five-fourteenths of the number of

administrative officials are females.

Uh Thod A ol 120 D
&g 3R 800 BMF &l TETh
TASEGT HT G&AT Al 65 giaurd
freTh § 3R 9V TEw s
URMETAD HAPRT &1 HoT O
H & 45 Ufard dsfhar &l
oIsfral T g&aT &1 I
gfard dad Bel il Thdl &
AV TsfhaT el 3R 37aa
Glddl dlel Hehdl ol oISl &l
&I Bl dld-dIAS hdol el
dicT obdT &1 AW olzch fear
3 3T At 9ol Thd g
freTept &1 AT @1 a@r e
gﬁp%l URMmETdD TABIRAL

HET F Urd-dlegdl AT
AfeoTT &I




In a school there are total 120 staff members
and 800 students. 65 per cent of the number
of staff members are teachers and the
remaining statf members are administrative
officials. Out of the total number of students
45 per cent are girls. Twenty per cent of the
number of girls can speak only Hindi. The
remaining girls can speak both Hindi and
English. Three-fourths of the number of
boys can speak only Hindi. The remaining
boys can speak both Hindi and English.
Two-thirds of the number of teachers are
males. Five-fourteenths of the number of

administrative officials are females.




Directions: Study the graph to answer the questions that below:

feT: Hiar fou 70 w2 ok ST 2 ok ToT0 UTW <hT 37883 ohi:
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200 580

i 1&\ / 160

=S

—Length of Train —Length of Platform




The speed of train B is 6 m/s and the speed of train E is 20 m/s. Find the difference
between the time taken by two trains to cross their respective platform ?

< B R 7T 6 Hiew/Aehs B 3T 2 E <Y i 20 Wie/@ehe 21 2t ot ST 27U Heiferd
TACHTH hi U i W 7T STcd THT ok S Rt 3aX T hIfeTa?

250

200 200

18& 190
150

140 /m\
o e 110 1.30 sec

: 20 2.20 sec

& 3.25 sec
0 . . . . ) 4.15 sec
; : : i ; 5.10 sec

Length of Train —Length of Platform




Speed of train D is 18 m/s. Find the total time taken by train D to cross platform
and bridge of length 250 m ?

< D ht Tfd 18 Hiey/8ehs 71 ¢ D ST eI 3R 250 Wit ol et ol IR &l |
ToTaT T et FHT AT hiA?

250

200 200

18& 190
150

140 /jﬂ\
o e 110 1.40 sec

: = 2.45 sec

5 3.35 sec
0 . . . . . 4.30 sec
; : - i ; 5.20 sec

Length of Train —Length of Platform




Find the average lengths of five platforms ?

Ul WEWwTHT <hl TTET TdTS JTTd ShlIToTa?

250

200

150

100

50

A B C D E

—Length of Train —Length of Platform

1.105 m
2.130m
3.116 m
4.120 m
5.110 m



Time taken by train C to cross-platform is 30 seconds. A man walking on the same
platform with speed 1m/s. Find the relative speed of the train to cross the walking

man in the opposite direction on the same platform ?

27 C ZRT W ohl TR i U ToTaT 7 @0y 30 Uehe 7. Ueh safh IHT twiehi W1 1 Hiet/Ahe
&Y Tifer & =ret TET B, 3T verewrd ur feradta feemr o wrere ot safer Rt R R ok foru o <t mmarer
T [T ShiTTa?
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200 200

18& 190
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140 m\
o e / 110 1.7 m/s

: ¥ 2.5 m/s
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0 | . . . . . 4.9 m/s
- % - i ; 5.10 m/s
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The speed of train A is S m/s. Find the time taken by train A to cross-platform ?

ST A Y T 5 HigUHHE 21 <7 A TRT TWEWTH UR T H Torat & a6 d A1
AN R
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200 200

18& 190
150

140 /jﬂ\
o e 110 1.25 sec

: = 2.40 sec

5 3.30 sec
0 . . . . . 4.60 sec
; : - i ; 5.45 sec

Length of Train —Length of Platform




Directions: Pie chart shows the number of workers in different companies. .
Table chart shows the ratio between employees and workers.

Total Employees = Total Officers + Total Workers

Total Workers = 6000




Find the ratio between officers of company A and employees of company D ? @\
HUAT A o ATRTRAT SR THUAT D o HHETRAT o sitel hT FTATT AT Rl T ?

Total Workers = 6000

1.2:11
2.3:28
3.5:32
4.2:17
5.NOT




Officers of company A are what percent of the officers of company E ?

HUAT A o TR hUAT E o6 STIRTIET & feha atasra 82

Total Workers = 6000 1.25%
| 2.66.66%

3.37.5%
4.50%
5.NOT




Officers of company B are how much percent more or less than employee of

company E ?

HUAT B & ATUHHET U E &% wi=rt O feraw ufasra arferes o v &2

Total Workers = 6000

1.80%
2.83.33%
3.14.28%
4.28%
5.NOT




Find the average between officers of A, B and E ?

A, B 3T E o SATeRTIET o i<t oht 37 @d FTd hifer?

Total Workers = 6000

1.500
2.700
3.900
4.1200
5.NOT



Find the ratio between officers and workers ?

STAHTIAT ST HTAITRT o ster ST SFTUTA AT Rl T ?

Total Workers = 6000 1.17:50
| N 2.22:45

3.19:32
4.65:132
5.NOT




Find the difference between employees and officers ?

HHATET ST STFRTIEAT ok el ST TR FTA HITT 2

Total Workers = 6000

1.8040
2.6000
3.4000
4.4200
5.NOT



